Signature and Name of Invigilator

1.

2.

J

Time : 1¥4 hours]

(Signature)
(Name)
(Signature)
(Name)

1|5

OMR Sheet NO. :..........ccocueereireciereesenrenciecseeaenans
(To be filled by the Candidate)

Roll No.

(In figures as per admission card)

Roll No.

(In words)

PAPER - 11
PHYSICAL EDUCATION

[Maximum Marks : 100

Number of Pages in this Booklet : 32

Number of Questions in this Booklet : 50

N

N

10.
11.
12.
13.

Instructions for the Candidates

Write your roll number in the space provided on the top of
this page.

This paper consists of fifty multiple-choice type of questions.
At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal and do not accept an open
booklet.

Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.
After this verification is over, the Test Booklet Number
should be entered on the OMR Sheet and the OMR Sheet
Number should be entered on this Test Booklet.

Each item has four alternative responses marked (1), (2), (3)
and (4). You have to darken the circle as indicated below on
the correct response against each item.

Example: ) Q) @ (@ where (3)is the correctresponse.

Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark your
response at any place other than in the circle in the OMR
Sheet, it will not be evaluated.

Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your Name, Roll Number, Phone Number or
put any mark on any part of the OMR Sheet, except for the
space allotted for the relevant entries, which may disclose
your identity, or use abusive language or employ any other
unfair means, such as change of response by scratching or
using white fluid, you will render yourself liable to
disqualification.

You have to return the original OMR Sheet to the invigilators
at the end of the examination compulsorily and must not
carry it with you outside the Examination Hall. You are
however, allowed to carry original question booklet and
duplicate copy of OMR Sheet on conclusion of examination.
Use only Blue/Black Ball point pen.

Use of any calculator or log table etc., is prohibited.

There are no negative marks for incorrect answers.

In case of any discrepancy in the English and Hindi versions,
English version will be taken as final.
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PHYSICAL EDUCATION
PAPER - 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All questions

are compulsory.

Philosophy of Physical Education is related to :

(1) Realism (2) Humanism (3) Pragmatism (4) Idealism

Intellectual functioning is mainly in the domain of which lobe of the cortex ?
(1) Temporal lobe (2)  Occipital lobe

(3)  Frontal lobe (4) Parietal lobe

Which of the following groups is the most correct set of core elements of a rotational analysis
system ?

(1) Action, outcome, position, effect on possession
(2) Player, Position, action, time
(3) Possession, action, position, time

(4) Player, outcome, position, action

The law of effect is also known as :

(1) Law of exercise (2) Law of satisfaction

(3) Law of recency (4) Law of frequency

Which of the following qualities of a teacher will be liked most by the students ?

(1) Idealistic philosophy (2) Compassion
(3) Discipline (4) Entertaining
s [N :
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der: T TTE H v (50) dg-fashedd U €1 YE YA % | (2) % § | Wit Ued e 2

1. YRR fren o1 <ufeme e €
(1) Femefanfea (2) HHEAER (3) ERIN&HAER (4) EAR
2. Sifge AT HIEH & fHT 9 FH FE & A1 L ?
(1) SHIRE o (2) Ardifred 9
(3) Wed W (4) UUZEA WM
3. frAfafed § @ sF-w1 9 9fws favemm ugfa & 7= @l w1 gaifys w€ 92 2
(1) fora, gfdwd, efeaeen, Sfyaey i1 g9
(2) faarel, steeen, fwa, safy
(3) Tfyge, foram, efereen, eTafy
(4) Taare, gfawa, steeen, fswa
4. 9 frm i fAfafed & &9 off S S
(1) ™ fEm (2) Hdfe =1 fm
(3) A=t I (4) g fEm
5. freAfafed § @ foree &1 aF-91 T 00 S 5R 96 SIS gHe R S 2
(1) sfeeferel geH (2) SAgHEN
(3) sTgRmEd (4) TS
ez TN ;



6. ICMR’s recommendation of 1.0 gm protein/kg body weight assumes a Net Protein Utilization
(NPU) of :
(1) 80 2) 75 3 70 (4) 65
7.  The ability to exert maximum muscular force in minimum possible time is called :
(1) Muscular Power (2) Muscular Endurance
(3) Muscular Strength (4) Reactive Strength
8.  Calculating effect size for within-subjects designs is :
(1) Provide a theoretical and structural model for the use of effect size
(2) Estimator of treatment effects
(3) Between a pre test and post test for a treatment effect
(4) Estimate the population of possible treatment effects within a given experiment
9.  The degree to which the players possess a given characteristics is assessed to express in
quantitative term is called as :
(1) Test (2) Measurement (3) Evaluation (4) Statistics
10. Which of the following is not the theory of Management ?
(1) The Classical theory (2) The Neo-Classical theory
(3) The Modern theory (4) The Neo-Modern theory
11. Social aspect refers to the development of qualities such as :
(a) Adjustment (b) Cooperation (c)  Self development
(d) Frustration (e) Leadership
Find the correct answer :
D @ (®)(© 2)  (b), (c) (d)
) (© (@), (e 4)  (e) (@) (b)
aad [T :
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1) 80 2) 75 3) 70 4) 65
7. % Udl SHHH &0 @ 9T H ik @ A 5o 7E0 S ¥ S8 e §
(1) THIRig 9 (2) HTEUE HeTSerd
(3) wiEwRE Wi (4) wfafsrereh wfw
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(1) 999 SMHR & FAM & e Fgit<ae iR deamreres Aied T&qd &l ¢ |
(2) &9 gumEl &1 STiwa® |
(3) T8 TlE &R TvE qde o o9 eI gvE & fau
(4) T T g & STX H9E TRl GurEl hi SHHE F Hicher |
9. foanfedl & =g G T2 fafired fT &g a T, SHF Nide &1 IREmIHS &9 H =I5 HLH &I Fed
¥
(1) e (2) H9AH (3) HeHIHRA (4) wiferst
10. fr=fafed § @ ®F-w1 yous #1 fagia T& 82
(1) et fagrd ) Ta-FtgeRt fagia
(3) smyfTw fagia (4) Ta-sngftw fagia
11. SIS 9ge] TN & I &1 SAme a1 §, S ¢
(a) ST (b) FeEm (c) T famg
(d) Fomtad (e) g
TE I AT T HIFC :
1 (@), (b), (c) 2)  (0), (), (d)
@) (o), (d), () 4)  (e) (a), (b)
pars [T 5 Papec




12.  Which of the following is not a secretion of Pituitary gland ?
(a) ADH (b) Thyroxin (c) Oxytocin (d) Epinephrine

Find out the correct combination from the following codes :

Codes :
(1) (a) and (d) (2) (b) and (d)
(3) (a) and (o) (4) (b) and (a)

13. Increased speed of running leads to :
(a) Increased hip and knee flexion
b) Decreased support phase
¢) Increased hip and knee extension

(
(
(d) Decrease in forward trunk lean
(e) Increased float phase duration
(

f)  Increase in forward trunk lean

Find a correct combination according to code :

Codes :
(1) (@), (d), (e) and (f) (2) (b, (¢), (e) and (f)
(3) (b, (d), (e) and (f) (4) (@), (b), (e) and (f)

14. Aggressive behaviour of a sportsperson is influenced by :

(a) Emotional identification with the team
(b)  Tactical ability
() Goal orientation

(d) Skilllevel

Select the correct answer :

Codes :
(1) (@) and (9 (2) (b)and (d)
(3) (@) and (d) (4) (b)and (9
s [N :




12. fr=afafed § @ s@-w @@ fregefR vify & =& 22

13.

14.

J-4715

(a) TELTE. (b) TR
(d) TfEwE
freferfed e 9 w8l S g -

g I 9t g T WA &

(a) o AR YA & qe@ H gig

(b) EEE =0 H HHT

() %ee 3R ¥ & o | gfg
(d) T FT R ¥ F FhE § HH
e) TAH TH I eEfy H gfg

f) ST & IR U & FRE | IS
@ T e B 3HH 9 wH gh -

A3

fEeet &1 emehme =eeR fefafead @ garfad g g -

(a) T & WY HlHE AR

(b) ToTifaeR el

(c) AA&IYIId

d) HRE TR

% Y W& IR A TI9 HIIT

e :

(1) (a) 3R (o) 2)
(3) (a) ¥R (d) (4)

BN

(b) 3 (d)
(b) 3R (c)
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15. Which of the following viral hepatitis can be prevented by vaccination ?

(a) Hepatitis A (b) Hepatitis B
(c) Hepatitis C (d) Hepatitis E
(1) (a) and (b) (2) (a), (b) and (c)
() (a) and (o) (4)  (b), (c) and (d)

16. What are the various concepts of curriculum ?

(a) Experience (b) Teaching
(c) Subject (d) Objective
Codes :

(1) (@) (©) and (d) () (@), (b)and (d)
(3) (), () and (d) 4) (@), () and (©)

17. Find the correct combination of the measurements related to the game of hockey using the
codes given below :

(@) 12080 yards (b) 100X 60 yards
(c) 12 yards (d) 16 yards

(€) 7 yards

Codes :

1 (@) (), (e) (2)  (b) (d), (e)
@) (), (d), () (4)  (a) (d) (e)

18. In two way ANOVA, with A and B as the independent variables, if the F-ratio computed as
MS, , g/ MSyy is significant, it can be concluded that :

(a) Main effect of A is significant
(b) Main effect of B is significant

(c) Interaction effect is significant

Codes :
1 (9 (2) (a) and () (3) (a) and (b) 4)  (b) and (c)
s [N ;



15. fr=Afafea # fea foumeta tiesfen @ S g s=n 5w § 2
(a) ®UeEfew T (b) =UemEfem ot
(c) TUerfea d (d) TUerfew g
(1) (a) 3R (b) 2 (@) (b) (o)
3) (@) ¥R () 4)  (b), (o) ¥R (d)
16. TeIHY i fafa= sraumomd = 8 ?
O REERAE] (b)  Tereom
(c) fao (d) 3evE
e :
(1) (@), (o) 3R (d) 2 (a), (b) 3 (d)
(3) (b), (0) ¥R (d) 4)  (a), (b) F (o)
17. = fT 7T %2 &1 T Fd gL el O § F-Y A9 HI 3F=q THESH T4 DT :
(a) 120x 80 T (b) 100X 60 TSI
() 127 d) 16T
() 77
e :
1) @, © (@) 2 (), @), (e)
3) (© (@) (e 4 (@, () ()
18. fgueft ANOVA ®, A 7 B & ¥19 Tad =X % &9 H IS F I MS, , 5/ MS,, TR Faergol
®q ¥ yfifod €; 38 39 &9 | fqomfea foan s wehan € & -
(a) A I I9E T S|
(b) B H&I I HEEqUl ¥ |
() SR FuTE Hewqul ¢ |
%<
M (© 2 (@) ¥R () 3) (a) 3R (b) (4)  (b) 3R (o)
(1[I )




19.

20.

21.

22.

Following test measure coordination :

(a) Ball catch (b) Squat Jump () Jump rope (d) Jumping Jack
Codes :

1) @ @and© @ @ ©@©and@d @) O)(and(d @) ) (d and @

The major areas of physical education and sports management are as follows :
(a) Financial management (b) Performance management
(c) Personal management (d) Infrastructure management

Find the correct code :
(1) (a), (b) and (c) (2)  (b), (¢) and (d)
() (@), (c) and (d) (4) (a), (b) and (d)

Given below are two statements, one labelled as Assertion (A) and other labelled as
Reason (R) :

Assertion (A) : Sportsperson belonging to a participating country takes part in the
Olympic Games.

Reason (R) : There is age limit for competitor participating in the Olympic Games.
In the context of the above two statements, which of the following statements is correct ?
Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true and (R) is false.
(4) (A) is false and (R) is true.

Given below are two statements one labelled as Assertion (A) and other labelled as
Reason (R) :

Assertion (A) : Practically all of the serum albumin and fibrinogen are formed in the liver.
Plasma cells are the main source of immunoglobulins.

Reason (R) : Synthesis of Plasma protein by the liver depends on the concentration of
amino acids in the blood.

In the context of above two statements, which one of the following statements is correct ?
Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

rans [[1LITHANERN 1
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22.

frefafea Tderor ga+e 7= © -
(a) o & (b) TS (c) <UIg d) i St
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(a) foxia geiem (b) Froured waiem
ORECRIESE R ECE (d) STIEEA G
T Fe 1 qq1 TN
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3) (A) Wl E, W (R) T g

(
(
(
(4) (A) 7T T, W (R) HE T

)
)
)
)
T T we fou o W@ €, Toad @ verm w1 fueR e (A) iR fgdta 1 @eh (R) Fe1 T R -

AURAT (A) :  FERINE €9 9 G TRY TAGHA a0 Figforre asha | ffHd g €1 e
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ek (R) : Thd GRI TR TS o1 G¥0); o | U ot &t arvgar R el et §
frefefad & wiA-91 wer Sie gl 4 9d %2
e :

(1) (A) @A (R) SHI §& T, T4 (R), (A) I el AT T
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23.

24.

25.

s [ [1]]

Given below are two statements, one labelled as Assertion (A) and other labelled as
Reason (R) :

Assertion (A) : Mechanisms and robots are examples of kinematic chains.
Reason (R) : Rigid bodies connected by kinematic pairs are known as kinematic chains.

In the context of the above two statements, which of the following statements is correct ?
Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.

Given below are two statements, one labelled as Assertion (A) and other labelled as
Reason (R) :

Assertion (A) : Personal factors in cohesion refers to individual characteristics of group
members.

Reason (R) : A great deal of variation occurs due to individual orientation, satisfaction
and individual differences among group members.

In the context of the above two statements, which of the following statements is correct ?
Codes :

(1)  (A) is correct but (R) is not correct explanation of (A).

(2)  (A) is correct and (R) is the correct explanation of (A).
(3)  (A) is wrong but (R) is correct.
(4)

4) Both (A) and (R) are wrong,.

Given below are two statements, one labelled as Assertion (A) and other labelled as
Reason (R) :

Assertion (A) : Vivekananda said, “All knowledge that the world have ever received comes
from the mind; the infinite library of the universe is in your mind”.

Reason (R) : Education is the realization of the knowledge inherent in man.
In the context of the above two statements, which of the following statements is correct ?
Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.

T 2




23. 9 < FUA 3 W W E; 99 @ gom 1 atfeRem (A) R fgda 1 @k (R) Fe1 T R

24.

25.
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< :

(A) 3R (R) T T &, 3R (A) & (R) T =A=A T
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3)  (A) 7 ¥, W (R) el
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(
(
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)
)
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(A) TAd € A1 (R) T €1
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26.

27.

28.

Given below are two statements, one labelled as Assertion (A) and other labelled as
Reason (R) :

Assertion (A) : The most practical method to detect Protein Energy Malnutrition (P.E.M.)
early is to maintain the growth chart.

Reason (R) : Protein energy malnutrition constitute 30% in case of Indian population.
In the context of the above two statements, which of the following statements is correct ?
Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(3)  (A) is true, and (R) is false

(4) (A)is false, and (R) is true

Given below are two statements, one labelled as Assertion (A) and other labelled as
Reason (R) :

Assertion (A) : Training and competition demands have linear relationship with degree of
load.

Reason (R) : The same demands always give rise to the same degree of load.

In the context of the above two statements, which of the following statements is correct ?
Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true, but (R) is false

(4) (A)is false, but (R) is true

Given below are two statements, one labelled as Assertion (A) and other labelled as
Reason (R) :

Assertion (A) : Underwater, fat and bone is more dense than muscle. Therefore, the more
fat/bone, the more the subject will weigh underwater or vice versa.

Reason (R) : By weighing the subject in the air and underwater we can measure body
density.

In the context of the above two statements, which of the following statements is correct ?
Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(3) (A) is true, but (R) is false

(4) (A)is false, but (R) is true

rans [[1LITHANERN z
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(2)  (A) SR (R) T T T, W (A) T (R) el @A T
(3) (A) T, W (R) T T

(4) (A) e €, 9 (R) WEl €|

= < e fo3 W1 w® €, 999 @ gom 1 tfireRer (A) iR fadta 1 @eh (R) et T |
ATHRAT (A) :  Wi¥eror we waeast 61 o1 Sen Ty YR i A % W el ¥ |

e (R) : U | e GHM WR 1 AT I ST <l 81
TrefafEad o SH-91 %eF Suled Hed § 9el § 2
e :

1) (A) 3R (R) I & &, 3R (A) & (R) ¥ =& T
2)  (A) 3R (R) T TEt &, g (A) FT (R) TE =A@ T R
3) (A)WEl €, T (R) TTerd €

(
(
(
(4) (A) 7 §, W (R) T &

)
)
)
)

T T Fo fed 1 W/ €, T A R (A) 3R O I qeh (R) Fel TR

ARURAT (A) : T F T IR BT T H TET SR GET BT S AT Sl € | 3T: ST Ty
TGl ATl TR <Rl oIS TIHT o ST ST BT A1 58k foladial | B |

T (R) : TH e T I gal 3R UM A et R IR % S i HT9 T § |
STdF 3 FAl % Hed ¥ frafafead § @ FH-1 weH ¥ 9§12
< :

1) (A) 3R (R) I w& §, R (A) T (R) HE TR 7 |
2) (A) 3R (R) SHI TET €, TG (A) FT (R) HE TR T |
(3) (A) 9t &, W] (R) el © |

(A) T §, TG (R) HE T |

pars \IINI\||||H|||!III\“II\IHHIIIH\HH!III\HIIHI\ :



29.

30.

31.

s [T

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : Evaluation is the art of judgement scientifically applied accordingly to some
predetermined standard.

Reason (R) : Evaluation is one’s ever-present curiosity about his concern.
In the context of the above two statements, which of the following statements is correct ?

Codes :

1) Both (A) and (R) are true and (R) is the correct explanation of (A)
2

3

Both (A) and (R) are true, but (R) is not the correct explanation of (A)

1)
()
(3) (A) is true, and (R) is false
(4) (A) is false, and (R) is true

Given below are two statements, one labelled as Assertion (A) and other labelled as
Reason (R) :

Assertion (A) : Cognate or foundation classes, which are related to the discipline of sports
management and can include courses in commnications; interpersonal
relations; accounting; finance; economics; statistics and socio-psychological
aspects of sport.

Reason (R) : A practicum is usually a preinternship, part-time field experience taken
while the student is still persuing cognate or special classes.

In the context of the above two statements, which of the following statements is correct ?
Codes :

1
2

Both (A) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) are true, but (R) is not the correct explanation of (A)

1
2)
(3) (A)is true, and (R) is false
(4)

(A) is false, and (R) is true

Arrange the sequences of Asian Games held in chronological order :
(a) Doha, Qatar (b) Manila, Philippines
(c) Tehran, Iran (d) Jakarta, Indonesia

Codes :
1) (®), (d), (0), (a) 2) (@), (), (b), (d)
(3)  (d), (b), (¢), (a) 4) (), (@), (d), ()

1l 1



29. = 3 FuA 3 W1 @ € foud @ wem 0 rfueRem (A) @R fgdta #1 @eh (R) F&1 TR ¢

30.

31.

rass [

AMUFRYT (A) :  FATHA, Fofa w1 o5 wen ® it qd Freifa S R = &1 S

qeh (R): i AT & Hed e arcl @ Hae e €1
frefafead o wiF-91 woF SRied gl § w6t §?
< :

(1) (A) 3R (R) IF W &, &R (A) F (R) T =0 2
(2) (A) IR(R) T TE &, T (A) FT (R) T =A0€A1 7 2|
(3) (A)E& E, T (R) T ¢ |

(4) (A) 7@ 8, T (R) HE B

T 1w fed 1w/ ¥, 9w @ yom 1 tfieRer (A) oiR fadia 1 @eh (R) et T # -

AfieRed (A) : T IR YR FHeMd < Wage Faud & e @ gefuq € & Fgum
TEIAFRH : SFCATKIH HaHl; d@rm, fow, e, difeawt a¢1 Udas &
T -HAee T8 e & §hd © |

TH (R): “Yfeeshn’ RO IR R TeW foRan e uitegdn-ud, sfvrhifas R oy ®
T BT A ST fa9y FHemg 2 € T & |

ST &1 FHAl & Ged | frefafed § sF-91 wea | 96§ 2
< :

(1) (A) #R (R) I TR T, IR (A) F (R) T =0 2
(2) (A) ¥R (R) S W €, TG (A) FT (R) FEI =A0EA T R
(3) (A) W T W (R) T T

4) (A)7Ed B, T (R) & T

T el Hl FIHATIR W

(a) T, W (b) T, fRefdE

(c) dEH, A (d) TeRTdl, ST
e :

1 (b), (d), (), (a) 2) (@) (c), (b), (d)

@) (d), (), (o), (a) 4) (b), (a), (d), (c)

l 1



32. What is the correct sequence of sympathetic and parasympathetic division given below :

(a) Cranial (b) Lumbar

(¢) Thoracic (d) Sacral

(e) Cervical

Codes :

1) (&), @) () (d) (b) (2)  (b), (d) (@) (9) (e)
®) @ (© () (®) () ) (d), (), () (@) (b)

33. Sequentially arrange the typical step in dynamic Scene Analysis :
(a) Feature detection (b) Motion parameter estimation
() Tracking (d) Image filtering and enhancement

(e) Establish feature correspondence

Codes :
(1) (o) (b), (d), (e), (a) (2) (@), (b), (d), (c), (e)
3 (d) (@), (a) (e), (b) 4)  (b), (d), (c), (@), (e)

34. Arrange four distinct stages of competition process in sequential order :

(a) Subjective competitive situation (b) Objective competitive situation

(c) Consequence (d) Response
Codes :

1) (@), () (a) (b) 2)  (©) (d), (b), (a)
©3) (@), (b), (c), (d) 4)  (b), (a), (d), ()

35. In the reflex action nerve impulse passes through a reflex arc in following sequence :

(a) Sensory neuron (b) Motor neuron

() Receptor (d) Effector

(e) Integrating centre

Codes :

1) (©) (e) (@), (d) (b) 2) (@) @) () (b) (d)
(3)  (d), (), @), () () 4 (@), (b) () (@), (d)
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32.

33.

34.

35.

s [N

Geyfd Yo IR Fersr famv, st 9 fed T e 9t e : 8 2

(a) U (b) fe

(c) & CORREE

(e) e

%<

1) (e), (@), (0) (d), (b) (2)  (b), (d), (@), (c), (e)
@) (@) (0) (e) (b), (d) (4)  (d), (e), (o) (a), (b)

TS UG faetoor & fafire sl &l it &9 9 Zafed &

(a) Tomivar wg=m (b) T AHE 3Tk

() <fEm ) fo3 =1 SR AR HaeA
(e) Torereran wreran wenfud T

e :

1) (0) (®), (d), (e), (a) 2) (@), (b), (d), (c), (e)

B)  (d), (), (a), (e), (b) ) (b), (d), (0), (), (e)

gfaeayt gfhan & =R fa=1 =)0l i ATIwHE 9 9 Fafed S :

(a) Al faequicnss feafd (b) oW Yfqequiee feafd
(c) fromm (d) ergfswan

< :

1) (d), (o), (a), (b) 2) (), (d), (b), (a)

®) (@), (b), (0), (d) 4)  (b), (a), (d), (c)

et foran | g 21maT wes =9 @ fefafed w9 o ToRar e

(a) Had = (b) X I

() fE=x (d) THEFRX

(e) sffeT og

< :

1) (o) (e), (a), (d), (b) 2) (o) (a), (&), (b), (d)
(3)  (d), (b), (a), (c), (e) 4)  (e), (b), (c), (a), (d)

7 7
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36. Sequentially arrange the food items in descending order of their carbohydrate content :
(1) Sugar, Jaggery, Rice, Potato (2) Sugar, Jaggery, Potato, Rice
(3) Jaggery, Sugar, Rice, Potato (4) Jaggery, Sugar, Potato, Rice
37. Find the correct sequential order of the stages of technique training using the codes given
below :
(a) Explanation (b) Introduction
(c) Practice (d) Demonstration
(e) Lead-up game
Codes :
1) @, (©) (d), () (b (2)  (b), (d), (@) (c) (e)
(3)  (© (e) (@) (a) (b) 4) (), (© () @) (e)
38. Find the correct sequential order of hypothesis testing procedure :
(a) State the decision rules (b)  State hypothesis
(c)  Select appropriate test statistics (d) Compute the appropriate test statistics
Codes :
1) (b), @), (d) (¢) (2) (@), () (b), (d)
G ®), ©) (@), @ 4 @ 0), @ ©
39. Find the correct sequence of scientific research that involves systematic process.
(a) Identify the problem
(b)  Define the population
(c) Develop the instrumentation plan
(d) Clearly define concepts
(e) Clarify the problem
Codes :
(1) (@) (d), (b) (0) (e) (2) (@) (e (d), (b) ()
3) (b @), (), @) © @) (b)), @ © @
v TN 2



36. T TSI I ITH SUMEYT HEIBIGS i HTAT 1 TG hH § HAATEd HY
(1) =, T, =T, e (2) =, TS, 31, 9Ed
(3) T, =, e, e (4) TS, =, 31, =@

37. = fSU T e 1 TAN HId GY qeheiten TIVIEI01 o <N ! Tl STIhRH TGd I HITT

(a) == (b) ST

() 1™ d) vsTH

(e) Tie-3@ wdA

e :

1) @), (o) (d), (e), (b) 2)  (b), (d), @), (o), (e)
B) (@, (e), (d), (a), (b) 4)  (d), (9) (b), (a), (e)

38. URHTUAT 1 IRETOT Ugfd 1 HH A A
(a) Trofa frm fae (b) IREReT fere
(c) U T HifeTsht 1 AT (d) SIS T HifEHehT MM

(b), (@), (d), () 2) (@) (9 (b), (d)
(b), (), (a), (d) @) (@ () () (©

39. AT vy forew s vgfa &1 aaee g €, #1 3faa %9 91 S
(a) HEH HI YA
(b) SEEA T i
(c) U AT & faw™

(d) 3TN i =&TE

(e) HHEA HT TIRIHIT]

%<

1) (a), (d), (b), (c) (e) 2) (@), (e), (d), (b), (c)
(b), (), (d), (e), (c) 4)  (b), (d), (e), (0) (a)

(3) 7 7 7 s
s | NN
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40. A product is made up of four facets as described by Kotler et al. Arrange these in sequential

order, selecting the correct code :

(a) Augmented product

(c) Core
Codes :

product

D (9, (d), (@), (b)
®) (@) ®) () (d)

(b) Potential product
(d) Expected product

41. Match List-I with List-II and select the correct option from the codes given below :

List-I

Guts Muth

ewis

c¢) Archibald Maclarin

(a)

(b) DioL
(

(

d) Franz
Codes :
(a)
@ @
2 ()
®) (i)
(4) (i)

Nachtegall
(b) () (d)
(iii) (iv) (i)
SRV
) @) 0
(iv) @ ()

List-11

i)  America

(
(if) Great Britain
(iii) Denmark

(

iv) Germany

42. Match List-I with List-II and select the correct option from the codes given below :

List-I

(a) Direct Blow

(b) Indirect Blow

(c) Twisting Forces

(d) Muscle Contractions

Codes :
(a)
1 @)
2 (i)
@) (i)
4) (iv)
zall1[]if

(b) () (d)
(i) (v) (i)
(iv) (i) ()
(i) (@iv) ()

)G
L

List-I1

Person falling and landing on hands suffering a broken
arm

Person playing football or skiing is suspectible to this
injury
Person who receives an electric shock can suffer fracture

Person hit by a piece of flying rock and bone is broken at
the point of impact
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40. WICTR T TA o GNI ST 9@ 1 ¢ fof &S 3c01g 9% 987 § et a1 81 39 Wl %he &l 7eg 9§
Hafted %8 | Eu |

(a) URSRd (S gIT) IR (b) T TR
(c) T TR (d) YA 3cQ
e :
1) (0) (d), (a), (b) 2 (®) () (d), (a)
3) (@), (b), (0) (d) 4)  (d), (@), (b), (c)
41. E-1 %1 Ge-11 & 1 gafad witse a2 9= @ ™ #e § 98 S| )
-1 -1
(a) TEE HY OICLED
(b) fesfi forete (i) T fereA
(c) 3ThiaTee Hehe (ili) STHATR
(d) WS T=ETTA (iv) A
e :
@@ () (9 (d)
M @ (@) (Gv) (i)
2) @) @@ @) (i)
@) () (v) (@) (D)
(4) @D (@(v) @ (i)
42. -1 F GE-11 % 91 Gafad Hife R 99 53 ™ #ie 9 98l S| 1 =997 Hifa |
-1 Tqei-11
(a) T A () oAt Bl % o e R firan € foed s 22 o #
(b) T FA (i) 9% STCH AfK o Feaid o o SRM AT Foed & HRO
T HHRAT T |
(c) EHTERR dTehd (iii) =Afe 9 farTeft 1 seen aman €, sifeer s @ difeq 2
RETIRS
(d) et HEA (iv) AT I T ST gl el i Thel TlaT © qe gefed
T T gg 2 S 2

@@ () (9 (d)
@O 3G @) (
(2) @) (v) @) @)
() @) (D) (@v)

(

v)

)

@) @v) @) @) (i
rars (| IEMIRAACAO 2




43. Match List-I with List-II and select the correct option from the codes given below :

List-1
(a) Deep stroke
(b)  Effleurage
(c) Jostling
(d) Kneading
(e) Fanning
Codes :

(@) (b) (9
® @ D) )
2 @) (@) @
G) @) () @)
@) (@) @) (@)

List-11

Muscle is grasped at its fixed attachment point and shaken
gently back and forth.

Performed by moving the pads of the thumbs along the
length of a muscle.

Muscles are held between the thumbs and fingers of both
hands and squeezed.

Administered with the flat of the hand and fingers.

Moves away from a central point out to the edge of muscle.

44. Match List-I with List-II and select the correct option from the codes given below :

List-I
(a) Anxiety
(b)  Personality
(c) Leadership
(d) Motivation
Codes :

(@) (b)
(1) () (i)
(2) (i) (v)
G) @ @O
@ 0 )

rans [[1LITHANERN

List-I1
(i) Cognitive evaluation theory
(i) Multidimensional model
(iii) Phenomenological theory

(iv) Individual zones of optimal functioning
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43, -1 %1 GEi-11 9 gafaa & iR = fou 7u %3 9 w2 fohey &1 =77 &1

-1 st

(a) TN EH (i)  THUST R 3HH Tl e W ke Sl © SR M-S
&I STl € |

(b) THRTS (i) ISTIRN T TS o WL-TF S & UISq & AT H
IERISICIES

() SirefaT (ili) FITULAT I T BTl o STS IR STl & Tehel Siral
T TR T S 2 |

@) e (iv) @1t SR Sfvferal § foran S 21

() T (v) TeA forg @ wimuelt % fFaR T TR Tfaam g 2|

e :

@@ (b) () (d) (e)

® @ @) G (v) (@)
2) @) (@v) @ @@ )
(G) @) (v) @) @ (@)
@ @) @) (v (@) @

44. G-I G-I § Fafad w1 = S 7 Fel w1 @@ 9 938 foshed 1 99 HI

-1 11
(a) gf¥=a (i) EIEHS Godiw fagid
(b) AfRE (i) TgIETa Hea
() g (iii)y wigfasw fasgid
(d)  srfergTom (iv) S=TH FERAT F Al a4
%< :
@@ () (o) (d)
1) @Gv) (@) @) (@)
(2 @) @v) @ ()
G) @@ (@) (v) (i)
@ @) () (i)

)
il

(4)
parss |

I s



45. Match the terms of List-I with that of List-II and indicate perfect matching out of (1), (2),
(3), (4) below :

List-I List-I1
(Commonwealth Games) (Total Medals won by India)
(a) 2002 @i 50
(b) 2006 (i) o4
(c) 2010 (ii)) 69
(d) 2014 (iv) 111

(v) 101
Codes
(@ (b) (o) (d)
O @ @) @) 0
(2 @ @) (@v) (i)
(3) () @) @) ()
4) @) @ (v) ()

46. Match the terms of List-I with that of List-II and indicate perfect matching out of the codes
given below :

List-1 List-1I

(a) Syndrome (i)  Number of New cases that occur over a given period
of time

(b) Incidence (i) Study of distribution of diseases or health related
behaviours in a given population

(c) Prevalence (iii) Number of active cases in a population in a given
period of time

(d) Epidemiology (iv) A group or cluster of symptoms that occur together

Codes :

@@ (b)) (o (d)

L @ @) (@) (i)
2 Gv) @ (D) ()
() ) (@Gv) G @)

( ) ()

4) (i) (i

)
rans [1LTITHIANN
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45. GelI-1 % a1 &I GEAI-11 & |1 Gafed S a1 9= @ ™ (1), (2), (3), @) ¥ ¥ 3w e &l

gfad ifs |
-1

(IO W)

(a) 2002

(b) 2006

(c) 2010

d) 2014

@@ (b)) (o (d)

1 @ G Gv) @
2 @ (@) (@v) ()
(3) (i) @) @(dv) (@)
4) @) @ (v 3G

-1

(@)

(i)
(iif)
(iv)
(

v)

( wa grr fafsa ot e )

50
64
69
111
101

46. -1 ! Gei-11 § Fafed wifse a0 = o T Fe | 92 g9mEse 9|

i1
(a) &9
(b) EA

(c) F=dd

LRIEEIE]

e

@@ () (9 (d)
® @ @) @Gv) ()
2 (@v) @O @D ()
() () (@v) G @)
(4)

i) (i) ()
aad [T

11
feu gu g # 7 Afir + g
Teh SEEAT § W ST T ol SHagR ol AT |

ou gu wwa 9191 ¥ Us Saen & fwamia Il &6t
T |

Teh |19 He a1l A« Rl THE A1 T |
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47. Match List-I with List-II and find the correct option from the codes given below :

List-I List-1I
(a) Coupling Ability (i) Kinesthesis
(b) Rhythm Ability (i) Motor memory
(c) Adaptation Ability (iii) Anticipation
(d) Differentiation Ability (iv) Reproduction
Codes :

(@ (b) (o) (d)
L @ @ @) )
(2) @) @) @) @)
©G) @) @ @) ()
4) @@ (v) (@) ()

48. Match List-I with List-II and select the correct option from the codes given below :

List-1 List-1I
(a) Ethnography (i)  Criticism
(b) Historical (i) Intuition
(c) Experimental (iii) Intensive
(d) Case study (iv) Interpretative
(v)  Control

Codes :

() i) @Gv) G (@)

) ©® (v (i)
IR 2

iv

4 (G
pams ]|
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47. -1 %1 Gei-11 % 1 gafad swifse qon 9= @ ™ %2 4 98 fawen g

-1
(a) HASH &l
(b) < &AM
(c) oTgFRAT &Hd
(d) fade e
FE

@@ () (9 ()
® @ @ ) ()
() @) @) @Gv) @)
G) Gv) @) @) (i)
@ @ (v) () (i)

Heft-11
iy Tfqary

i) TIfd =qid
i) gargAH

(
(
(
(iv) T

i
i

48. -1 ! Ge-11 o |1 GAfAd HifSC a0 A= i@ T3 Fe ¥ F&t W g

-1
(a) Femfremi
(b) Ufderfae
(c) TIANTCH®
(d) HE A

a

)
)

e :
@@ (b) (9 (d)
) @) @) (v) @)
@ @ ) O
() i) @Gv) @@ @)
4 @ O O

rass [ HHANN

(1

-1
(i) =T
(i) ST
(iii) e

(
(

1
1

iv) SATEATHE

V)W
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49. Match List-I with List-II and select the correct option from the codes given below :

List-1
(a) Reece 5-Iron test
(b) Knox test

() Chapman Ball control test

(d) Johnson motor educability test

Codes :

@@ (b) (9
1 @ Gv) (@)
2) @) @ @)
@) (@) (i) ()
4) (v) (D) (i)

List-1I
) Basket Ball
if)  Vertical test
iii) Golf
iv) Hockey

[

o~ o~ o~ o~

50. Match List-I with List-II and select the correct option from the codes given below :

List-1
(a) Planning
(b) Coordinating
(c) Motivating
(d) Controlling
Codes :

@@ () (9
1) @) (@) @
2 @) @ @)
() @) () (iv)
4 O Gv) (i)

rans [[1LITHANERN

(d)
(iv)
(ii)
(1)

(1)

List-1I
(i) People and money
(i) Sustained
(iii) Checking

(iv) Direction

-00o0-
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49. FE-1 1 Ge-11 % 91 Fafad wife aen = 3 ™ g2 &1 3a0 3 g T W g

-1

)
b) e TdE

(
(
(
(

A

b)

iv)

@ (
M
(i) (i)
i)
(v) (

iii)
i

ii)

Yh-5 3T TET0

c) AUEA I FHegre qLE
d) STEA HieX USehfafarel Tem

G-I
() ST=hedlA
(i) dofERa %3
(iii) Tie®
(iv) et

50. HEA-1 ! Gei-11 o |1 Gafad wifse aan A= @ 78 §e 9§98t S g

-1
(a) ST M
(b) HH=IA
(c) AT
(d) e
e :

(@ () (9
1) @) @) ()
2) @) @ >
@) @) @) (i)
4) (@) (v) (i)

rass [ HHANN

Heft-11
(i) S SR
(i) frefe wew
(iii) S HE
(

iv) fieed

-00o0-
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Space For Rough Work
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